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TOPIC : Bank Reconciliation Statement, Depreciation, Bills of Exchange, Final Accounts of 
sole traders and Final accounts for Non Profit Organization. 

(Time allowed : 1.5 hours) 

QUESTION : 1 

Doctor Dinesh after retiring from Govt. service, started private practice on 1st April, 

2018 with ₹ 1,00,000 of his own and ₹ 1,50,000 borrowed at an interest of 12% per 

annum on the security of his life policies. His accounts for the year were kept on a cash 

basis and the following is his summarized cash account: 

 

Receipts ₹ Payments ₹ 

Own capital 1,00,000 Medicines purchased 1,22,500 

Loan 1,50,000 Surgical equipments 1,25,000 

Prescription fees 3,30,000 Motor car 1,60,000 

Visiting fees 1,25,000 Motor car expenses 60,000 

Fees from lectures 12,000 Wages and salaries 52,500 

Pension received 1,50,000 Rent of clinic 30,000 
  General charges 24,500 
  Household expenses 90,000 
  Household Furniture 12,500 
  Expenses on daughter’s marriage 1,07,500 
  Interest on loan 18,000 
  Balance at bank 55,000 
  Cash in hand 9,500 

 

One-third of the motor car expense may be treated as applicable to the private use of car 

and ₹ 15,000 of salaries are in respect of domestic servants. 

The stock of medicines in hand on 31st March, 2019 was valued at ₹ 47,500. 

You are required to prepare his capital account and income and expenditure account for 

the year ended 31st March, 2019 and balance sheet as on that date. Ignore depreciation 

of fixed assets. 

(12 MARKS) 

QUESTION : 2 

On 30th September, 2019, the bank account of Neel, according to the bank column of 
the Cash- Book, was overdrawn to the extent of Rs. 8,124. On the same date the bank 
statement showed a credit balance of Rs. 41,516 in favour of Neel. An examination of 
the Cash Book and Bank Statement reveals the following: 

1) A cheque for Rs. 26,28,000 deposited on 29th September, 2019 was credited by 
the bank only on 3rd October, 2019 



2) A payment by cheque for Rs. 32,000 has been entered twice in the Cash Book. 

3) On 29th September, 2019, the bank credited an amount of Rs. 2,34,800 received 
from a customer of Neel, but the advice was not received by Neel until 1st October, 
2019. 

4) Bank charges amounting to Rs. 1,160 had not been entered in the Cash Book. 

5) On 6th September, 2019, the bank credited Rs. 40,000 to Neel in error. 

6) A bill of exchange for Rs. 2,80,000 was discounted by Neel with his bank. This bill 
was dishonoured on 28th September, 2019 but no entry had been made in the 
books of Neel. 

7) Cheques issued upto 30th September, 2019 but not presented for payment upto 
that date totalled Rs. 26,52,000. 

You are required: 

a) to show the appropriate rectifications required in the Cash Book of Neel, to arrive 

at the correct balance on 30th September, 2019 and 

b) to prepare a bank reconciliation statement as on that date. 

(8 Marks) 

QUESTION : 3 

M/s. JP Wires Co. purchased a second-hand machine on 1st January, 2017 for Rs. 3,20,000. 
Overhauling and erection charges amounted to Rs. 80,000. 

Another machine was purchased for Rs. 1,60,000 on 1st July, 2017. 

On 1st July, 2019, the machine installed on 1st January, 2017 was sold for Rs. 1,60,000. 
Another machine amounted to Rs. 60,000 was purchased and was installed on 30th 
September, 2019. 

Under the existing practice the company provides depreciation @ 20% p.a. on original cost. 
However, from the year 2020 it decided to adopt WDV method and to charge depreciation 
@ 15% p.a. You are required to prepare Machinery account for the years 2017 to 2020. 

(10 MARKS) 

QUESTION : 4 

The following are the balances extracted from the books of Shri Raghuram as on 
31.03.2018, who carries on business under the name and style of M/s Raghuram and 

Associates at Chennai: 
 

Particulars Debit (Rs.) Credit (Rs.) 

Capital A/c  14,11,400 

Purchases 12,00,000  

Purchase Returns  18,000 

Sales  15,00,000 

Sales Returns 24,000  

Freight Inwards 62,000  

Carriage Outwards 8,500  

Rent of Godown 55,000  

Rates and Taxes 24,000  



Salaries 72,000  

Discount allowed 7,500  

Discount received  12,000 

Drawings 20,000  

Printing and Stationery 6,000  

Insurance premium 48,000  

Electricity charges 14,000  

General expenses 11,000  

Bank charges 3,800  

Bad debts 12,200  

Repairs the Motor vehicle 13,000  

Interest on loan 4,400  

Provision for Bad-debts  10,000 

Loan from Mr. Rajan  60,000 

Sundry creditors  62,000 

Motor vehicles 1,00,000  

Land and Building 5,00,000  

Office equipment 2,00,000  

Furniture and Fixtures 50,000  

Stock as on 31.03.2017 3,20,000  

Sundry debtors 2,80,000  

Cash at Bank 22,000  

Cash in Hand   16,000  

Total 30,73,400 30,73,400 

Prepare Trading and Profit and Loss Account for the year ended 31.03.2018 and the Balance 

Sheet as at that date after making provision for the following: 

(a) Depreciate Building by 5%, Furniture and Fixtures by 10%, Office  Equipment by  

15% and Motor Car by 20%. 

(b) Value of stock at the close of the year was Rs. 4,10,000. 

(c) One month rent for godown is outstanding. 

(d) Interest on loan from Rajan is payable @ 10% per annum. This loan was taken on 

01.07.2017 

(e) Provision for bad debts is to be maintained at 5% of Sundry debtors. 

(f) Insurance premium includes Rs. 42,000 paid towards proprietor's life insurance 
policy and the balance of the insurance charges cover the period from 01.04.2017 
to 30.06.2018. 

(15 MARKS) 

QUESTION : 5 

Rita owed Rs. 1,00,000 to Siriman. On 1st October, 2019, Rita accepted a bill drawn by 

Siriman for the amount at 3 months. Siriman got the bill discounted with his bank for Rs. 

99,000 on 3rd October, 2019. Before the due date, Rita approached Siriman for renewal of 

the bill. Siriman agreed on the conditions that Rs. 50,000 be paid immediately together with 

interest on the remaining amount at 12% per annum for 3 months and for the balance, Rita 



should accept a new bill at three months. These arrangements were carried out. But 

afterwards, Rita became insolvent and 40% of the amount could be recovered from his 

estate. 

Pass journal entries (with narration) in the books of Siriman. 

(5 MARKS) 

 

 

 

 

 


